Central Medical Supplies Public Corporation



Procurement Department

Supplier offer details

Sup	plier name: Acrelabs ltd.										
Offe	r no: OS00189/002/2017										
Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufa	cturer	Country of origin	Remarks	
1	PATIENT BED TWO MOVES	PCS	150.00	150.00	662.94	99,441.00	Projesan		Turkey		
2	patient bed five movement	UNT	20.00	20.00	2,192.00	43,840.00	Projesan		Turkey		
Offer t	otal value 143,2	281.00	Offer deposit fee (2	2% of Total Value in \$		2,865.62	Offer total N	lo. of Items Offere	ed 2		
Cons	olidated value 143,2	281.00	Consolidated Depo		2,865.62	Consolidate	ed Total No. of Iter	ns 2			



Supplier name: Al Haitham Chemicals & Pharma

Tender no: TNDRE/009/2017

Offer no: OS00044/001/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Surgical Endoscopy (Labroscopy)	UNT	1.00	1.00	91,518.70	91,518.70	Gimmi	Germany	
2	Complete Arthroscopy	UNT	1.00	1.00	59,041.60	59,041.60	Gimmi	Germany	
3	PORTABLE PATIENT MONITOR BASIC PARAMETERS	UNT	15.00	15.00	2,993.76	44,906.40	IG GmbH	Germany	
4	Central Steam Sterilization Unit (CSSD)	UNT	1.00	1.00	192,855.04	192,855.04	Steelco	Italy	
Offer t	otal value 388	,321.74	Offer deposit fee (2	% of Total Value in S	SDG)	1	15,835.60 Offer total N	ed 4	
Offe	r no: OS00044/002/2017			Offer Statu	IS: Confirmed	& Sent			
Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
5	Central Steam Sterilization Unit (CSSD)	UNT	1.00	1.00	197,471.15	197,471.15	Steelco .	Italy	
Offer t	otal value 197	,471.15	Offer deposit fee (2	% of Total Value in \$	SDG)		58,905.25 Offer total N	No. of Items Offere	ed 1
Cons	olidated value 585	,792.89	Consolidated Depo	sit Fee (2% of Total	Value in SDG)	1	74,740.85 Consolidate	ed Total No. of Iter	ns 5

Supplier name: Al Shihab Medical Equipment Co

Tender no: TNDRE/009/2017

Offer no: OS00063/001/2017

Srl.	Item description	иом	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks					
1	Central Steam Sterilization Unit (CSSD)	UNT	1.00	1.00	247,060.00	247,060.00	Cisa	Italy						
							al No. of Items Offer	ed 1						
Offe	r no: OS00063/002/2017			Offer Statu										
Srl.	Item description	иом	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks					
Srl . 2	Item description Central Steam Sterilization Unit (CSSD)	UOM UNT	Needed Qty 1.00	Offered Qty 1.00	Offered price 207,000.00	Total amount 207,000.00	Manufacturer AJC	=	Remarks					
2	Central Steam Sterilization Unit (CSSD)		1.00		207,000.00	207,000.00	AJC	origin						

Tender no: TNDRE/009/2017

Offer no: OS00210/001/2017

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	PATIENT BED TWO MOVES	PCS	150.00	150.00	217.00	32,550.00	PUKANG	China	
2	patient bed five movement	UNT	20.00	20.00	1,770.00	35,400.00	PUKANG	China	
3	ECHO ULTRASOUND	UNT	1.00	1.00	48,830.00	48,830.00	FUKUDA	Japan	
4	Colour Doppler machine	UNT	1.00	1.00	30,720.00	30,720.00	FUKUDA	Japan	
5	PORTABLE PATIENT MONITOR BASIC PARAMETERS	UNT	15.00	15.00	4,720.00	70,800.00	FUKUDA	Japan	
6	Patient Monitor with full Parameters	PCS	5.00	5.00	12,600.00	63,000.00	FUKUDA	Japan	
7	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UNT	15.00	15.00	18,940.00	284,100.00	EVENT	United States	
Offer t	otal value 565	400.00	Offer deposit fee (2	2% of Total Value in S	SDG)	1	68,657.69 Offer total I	No. of Items Offer	ed 7

Offer no: OS00210/002/2017

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
8	PORTABLE PATIENT MONITOR BASIC PARAMETERS	UNT	15.00	15.00	2,094.00	31,410.00	SCHILLER	Switzerland	
9	Patient Monitor with full Parameters	PCS	5.00	5.00	142,777.00	713,885.00	SCHILLER	Switzerland	
Offer t	otal value 745	,295.00	Offer deposit fee (2	2% of Total Value in \$	SDG)		14,905.90 Offer tota	No. of Items Offer	ed 2

Offer no: OS00210/003/2017

Srl.	Item description		UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufa	cturer	Country of origin	Remarks
10	PORTABLE PATIENT MONITOR BASIC PARAMETERS		UNT	15.00	15.00	180.00	2,700.00	BIOLIGHT		China	
Offer t	Offer total value 2,700.00		00.00	Offer deposit fee (2		805.40	Offer total N	lo. of Items Offere	e d 1		
Cons	olidated value	1,313,3	95.00	Consolidated Depo	osit Fee (2% of Total	Value in SDG)	1	84,368.99	Consolidate	ed Total No. of Iter	ns 10

Supplier name: bioline for trading service CO.LT

Tender no: TNDRE/009/2017

Offer no: OS00287/001/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Central Steam Sterilization Unit (CSSD)	UNT	1.00	1.00	151,566.00	151,566.00	ТВТ	Turkey	
Offer t	otal value 151,5	566.00	Offer deposit fee (2	2% of Total Value in S	SDG)		45,211.83 Offe	r total No. of Items Off	ered 1
Cons	Consolidated value 151,566.00 Consolidated Deposit Fee (2% of Total Value i		Value in SDG)		45,211.83 Con	solidated Total No. of I	tems 1		

Supplier name: century med tech

Tender no: TNDRE/009/2017

Offer no: OS00284/001/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	ELECTRIC POWER ORTHOPEDIC DRILL (BATTERY) COMPLETE WITH ACCESSORIES	SET	3.00	3.00	11,030.00	33,090.00	Zimmer	United States	
2	Battery Drill	UNT	3.00	3.00	10,960.00	32,880.00	zimmer	United States	
Offer to	otal value 65,9	70.00	Offer deposit fee (2	% of Total Value in S	G)		1,319.40 Offer	total No. of Items Offer	ed 2
Cons	olidated value 65,9	70.00	Consolidated Depo	sit Fee (2% of Total	/alue in SDG)		1,319.40 Conso	blidated Total No. of Ite	ms 2

Supplier name: EANA Medical Services and Inve

Tender no: TNDRE/009/2017

Offer no: OS00034/017/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Colour Doppler machine	UNT	1.00	1.00	29,450.00	29,450.00	SONOSCAPE	China	
Offer to	otal value 29,4	50.00	Offer deposit fee (2	2% of Total Value in \$	SDG)		8,784.88 Offer total N	No. of Items Offered	d 1
Offe	r no: OS00034/018/2017			Offer Statu	IS: Confirmed	& Sent			
Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
2	ECHO ULTRASOUND	UNT	1.00	1.00	31,350.00	31,350.00	SONOSCPE	China	
Offer to	otal value 31,3	50.00	Offer deposit fee (2	2% of Total Value in S	SDG)		9,351.64 Offer total N	No. of Items Offered	d 1
Offe	r no: OS00034/019/2017			Offer Statu	IS: Confirmed	& Sent			
Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
3	Central Steam Sterilization Unit (CSSD)	UNT	1.00	1.00	131,347.90	131,347.90	NUVE	Turkey	
Offer to	otal value 131,3	47.90	Offer deposit fee (2	2% of Total Value in S	SDG)		39,180.82 Offer total N	No. of Items Offered	d 1
Offe	r no: OS00034/020/2017			Offer Statu	IS: Confirmed	& Sent			
Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
4	Central Steam Sterilization Unit (CSSD)	UNT	1.00	1.00	198,654.89	198,654.89	MATCHANA	Spain	
Offer to	otal value 198,6	54.89	Offer deposit fee (2	2% of Total Value in S	SDG)		3,973.10 Offer total N	No. of Items Offered	d 1
Offe	r no: OS00034/021/2017			Offer Statu	IS: Confirmed	& Sent			
Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
5	Central Steam Sterilization Unit (CSSD)	UNT	1.00 1.00 219,192.59				MATACHANA	Spain	
Offer to	otal value 219,1	92.59	Offer deposit fee (2	2% of Total Value in S	SDG)		4,383.85 Offer total N	No. of Items Offered	d 1

Supplier name: Elhussien Commercial AG. for C

Tender no: TNDRE/009/2017

Offer no: OS00016/001/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UNT	15.00	15.00	7,930.00	118,950.00	Beijing Siriusme	China	
2	PATIENT BED TWO MOVES	PCS	150.00	150.00	293.00	43,950.00	Zhangjiagang Bra	China	
3	patient bed five movement	UNT	20.00	20.00	1,496.00	29,920.00	Zhangjiagang Bra	China	
Offer to	otal value 192,8	320.00	Offer deposit fee (2	2% of Total Value in S	SDG)		57,517.82 Offer total	No. of Items Offere	ed 3
Cons	olidated value 192,8	320.00	Consolidated Depo	osit Fee (2% of Total)	Value in SDG)		57,517.82 Consolidat	ed Total No. of Iter	ns 3

Supplier name: Golden eagle medical company

Tender no: TNDRE/009/2017

Offer no: OS00240/002/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacture	er Country of origin	Remarks
1	ECHO ULTRASOUND	UNT	1.00	1.00	48,000.00	48,000.00	TOSHIBA	Japan	
2	Colour Doppler machine	UNT	1.00	1.00	38,500.00	38,500.00	TOSHIBA	Japan	
3	Magnetic Resonance Imaging (MRI) 1.5T	UNT	1.00	1.00	,420,000.00	1,420,000.00	TOSHIBA	Japan	
4	Computed Tomography Machine (CT - Scan) 64 Slices	UNT	1.00	1.00	350,000.00	350,000.00	TOSHIBA	Japan	
Offer to	otal value 1,856,5	500.00	Offer deposit fee (2	2% of Total Value in S	SDG)	:	37,130.00 Off	fer total No. of Items Offe	ered 4
Cons	olidated value 1,856,5	500.00	Consolidated Depo	osit Fee (2% of Total	Value in SDG)	:	37,130.00 Co	nsolidated Total No. of It	ems 4

Tender no: TNDRE/009/2017

Offer no: OS00288/001/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	PNEUMATIC POWER ORTHOPEDIC DRILL COMPLETE WITH ACCESSORIES	PCS	3.00	3.00	41,805.60	125,416.80	B.BRAUN-AESCULAP	Germany	
2	ELECTRIC POWER ORTHOPEDIC DRILL (BATTERY) COMPLETE WITH ACCESSORIES	SET	3.00	3.00	45,368.20	136,104.60	B.BRAUN-AESCULAP	Germany	
3	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UNT	15.00	15.00	39,571.10	593,566.50	HEINEN & L?WENST	Germany	
4	Central Steam Sterilization Unit (CSSD)	UNT	1.00	1.00	162,704.60	162,704.60	GETTINGE/MAQUET	Germany	
5	ECHO ULTRASOUND	UNT	1.00	1.00	122,431.90	122,431.90	GENERAL-ELECTRIC	Germany	
6	Colour Doppler machine	UNT	1.00	1.00	173,474.40	173,474.40	GENERAL-ELECTRIC	Germany	
7	Magnetic Resonance Imaging (MRI) 1.5T	UNT	1.00	1.00	,543,355.10	2,543,355.10	SIEMENS A.G	Germany	
8	Computed Tomography Machine (CT - Scan) 64 Slices	UNT	1.00	1.00	,132,635.10	1,132,635.10	SIEMENS A.G	Germany	
9	COMPLETE UPPER AND LOWER GIT ENDOSCOPE	UNT	1.00	1.00	136,104.60	136,104.60	OLYMPUS	Japan	
Offer t	otal value 5,125,7	793.60	Offer deposit fee (2	% of Total Value in	SDG)	1	02,515.87 Offer total I	No. of Items Offere	ed 9
Cons	olidated value 5,125,7	793.60	Consolidated Depo	sit Fee (2% of Total	Value in SDG)	1	02,515.87 Consolidate	ed Total No. of Iter	ms 9

Supplier name: INTELLIGENT FOR IMPORT &

Tender no: TNDRE/009/2017

Offer no: OS00208/001/2017

Srl.	Item description	U	NOL	Needed Qty	Offered Qty	Offered price	Total amount	Manufac	turer	Country of origin	Remarks
1	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UN	ΙT	15.00	15.00	17,241.80	258,627.00	TECME S.A		Argentina	
Offer to	otal value	258,627.00	00	Offer deposit fee (2	৫% of Total Value in ১	SDG)		77,147.92	Offer total N	lo. of Items Offere	e d 1
Cons	olidated value	258,627.00	00	Consolidated Depo	sit Fee (2% of Total	Value in SDG)		77,147.92	Consolidate	ed Total No. of Iter	ns 1

Supplier name: Lamar Company Limited

Tender no: TNDRE/009/2017

Offer no: OS00055/001/2017

Srl.	Item description		UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manuf	acturer	Country of origin	Remarks
1	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR		UNT	15.00	15.00	20,400.00	306,000.00	Maquet		Germany	
Offer to	otal value	306,00	00.00	Offer deposit fee (2	% of Total Value in	SDG)		6,120.00	Offer total N	lo. of Items Offere	e d 1
Cons	olidated value	306,00	00.00	Consolidated Depo	sit Fee (2% of Total	Value in SDG)		6,120.00	Consolidate	ed Total No. of Iter	ns 1

Supplier name: M.A Medics service co,Itd

Tender no: TNDRE/009/2017

Offer no: OS00115/001/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UNT	15.00	15.00	15,360.00	230,400.00	HEYER Medical	Germany	
2	PORTABLE PATIENT MONITOR BASIC PARAMETERS	UNT	15.00	15.00	2,257.27	33,859.05	HEYER Medical	Germany	
3	Patient Monitor with full Parameters	PCS	5.00	5.00	9,050.00	45,250.00	HEYER Medical	Germany	
Offer t	otal value 30	9,509.05	Offer deposit fee (2	2% of Total Value in S	SDG)		92,325.93 Offer total I	No. of Items Offere	d 3
Offe	er no: OS00115/002/2017			Offer Statu	s. Confirmed	9 Sont			
				Oner Statu	IS: Comme	a Sent			
Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
Srl. 4	Item description ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UOM UNT	Needed Qty 15.00				Manufacturer HEYER MEDICAL.		Remarks
4	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR		15.00	Offered Qty	Offered price 12,600.00	Total amount	HEYER MEDICAL.	origin	

Supplier name: Marwaco Commercial Enterprise

Tender no: TNDRE/009/2017

Offer no: OS00033/001/2017

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	ECHO ULTRASOUND	UNT	1.00	1.00	44,450.00	44,450.00	Zonare (Mindray)	China	
2	Colour Doppler machine	UNT	1.00	1.00	26,350.00	26,350.00	EDAN	China	
3	PORTABLE PATIENT MONITOR BASIC PARAMETERS	UNT	15.00	15.00	1,590.00	23,850.00	EDAN	China	
4	Patient Monitor with full Parameters	PCS	5.00	5.00	10,795.00	53,975.00	EDAN	China	
5	COMPLETE UPPER AND LOWER GIT ENDOSCOPE	UNT	1.00	1.00	76,891.97	76,891.97	KARL STORZ	Germany	
6	Surgical Endoscopy (Labroscopy)	UNT	1.00	1.00	54,612.91	54,612.91	KARL STORZ	Germany	
7	Complete Arthroscopy	UNT	1.00	1.00	53,890.95	53,890.95	KARL STORZ	Germany	
8	Central Steam Sterilization Unit (CSSD)	UNT	1.00	1.00	193,590.00	193,590.00	CELITRON	Hungary	
9	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UNT	15.00	15.00	27,550.00	413,250.00	SIARE	Italy	
10	patient bed five movement	UNT	20.00	20.00	4,875.00	97,500.00	FAMED	Poland	
Offer to	otal value 1,038,3	360.83	Offer deposit fee (2	2% of Total Value in §	SDG)	3	09,740.96 Offer total N	lo. of Items Offere	ed 10

Offer no: OS00033/002/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
11	COMPLETE UPPER AND LOWER GIT ENDOSCOPE	UNT	1.00	1.00	86,546.85	86,546.85	KARLSTORZ	Germany	
12	Surgical Endoscopy (Labroscopy)	UNT	1.00	1.00	81,183.33	81,183.33	KARLSTORZ	Germany	
13	Complete Arthroscopy	UNT	1.00	1.00	68,876.25	68,876.25	KARLSTORZ	Germany	
Offer to	otal value 236,6	606.43	Offer deposit fee (2	2% of Total Value in \$	SDG)	-	70,579.22 Offer total	No. of Items Offere	ed 3
Cons	olidated value 1,274,9	067.26	Consolidated Depo	osit Fee (2% of Total	Value in SDG)	38	80,320.18 Consolidat	ed Total No. of Iter	ns 13

Supplier name: Millennium Projects Services Co

Tender no: TNDRE/009/2017

Offer no: OS00246/001/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	PATIENT BED TWO MOVES	PCS	150.00	150.00	1,233.11	184,966.50	LINET	Czech Repub	
2	patient bed five movement	UNT	20.00	20.00	4,538.67	90,773.40	FAVERO	Italy	
3	PORTABLE PATIENT MONITOR BASIC PARAMETERS	UNT	15.00	15.00	1,876.00	28,140.00	VOTEM	South Korea	
4	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UNT	15.00	15.00	24,437.50	366,562.50	IMTMEDICAL	Switzerland	
Offer t	otal value 670,	442.40	Offer deposit fee (2	2% of Total Value in S	SDG)		13,408.85 Offer total	No. of Items Offere	ad 4
Cons	olidated value 670,	442.40	Consolidated Depo	osit Fee (2% of Total)	Value in SDG)		13,408.85 Consolidat	ed Total No. of Iter	ns 4

Supplier name: Omnia Medical Services Co

Tender no: TNDRE/009/2017

Offer no: OS00193/001/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufad	cturer	Country of origin	Remarks
1	Central Steam Sterilization Unit (CSSD)	UNT	1.00	1.00	152,066.00	152,066.00	BMT - MMM	GROUP	Czech Repub	
Offer t	otal value 152,0	66.00	Offer deposit fee (2	% of Total Value in S	SDG)		3,041.32	Offer total N	lo. of Items Offere	e d 1
Cons	olidated value 152,0	66.00	Consolidated Depo	sit Fee (2% of Total)	Value in SDG)		3,041.32	Consolidate	ed Total No. of Iter	ns 1

Tender no: TNDRE/009/2017

Offer no: OS00106/002/2017

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	PATIENT BED TWO MOVES	PCS	150.00	150.00	1,101.00	165,150.00	Arjohuntleigh-Ge	China	
2	Surgical Endoscopy (Labroscopy)	UNT	1.00	1.00	126,561.27	126,561.27	Invidia	Germany	
3	ELECTRIC POWER ORTHOPEDIC DRILL (BATTERY) COMPLETE WITH ACCESSORIES	SET	3.00	3.00	25,122.70	75,368.10	Invidia	Germany	
4	Complete Arthroscopy	UNT	1.00	1.00	68,526.64	68,526.64	Invidia	Germany	
5	Battery Drill	UNT	3.00	3.00	25,122.70	75,368.10	Invidia	Germany	
6	COMPLETE UPPER AND LOWER GIT ENDOSCOPE	UNT	1.00	1.00	84,469.77	84,469.77	FujiFilm	Japan	
7	patient bed five movement	UNT	20.00	20.00	3,906.76	78,135.20	Arjohuntleigh-Ge	Poland	
8	Central Steam Sterilization Unit (CSSD)	UNT	1.00	1.00	324,914.60	324,914.60	Getinge	Sweden	
9	PORTABLE PATIENT MONITOR BASIC PARAMETERS	UNT	15.00	15.00	6,119.68	91,795.20	Huntleigh	United Kingdc	
10	Patient Monitor with full Parameters	PCS	5.00	5.00	10,040.10	50,200.50	Huntleigh	United Kingdc	
Offer to	otal value 1,140,	489.38	Offer deposit fee (2	?% of Total Value in S	SDG)		22,809.79 Offer total I	No. of Items Offere	e d 10

Offer no: OS00106/003/2017

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
11	PATIENT BED TWO MOVES	PCS	150.00	150.00	967.81	145,171.50	Arjohuntleigh	China	
12	COMPLETE UPPER AND LOWER GIT ENDOSCOPE	UNT	1.00	1.00	110,658.19	110,658.19	FujiFilm.	Japan	
13	Central Steam Sterilization Unit (CSSD)	UNT	1.00	1.00	266,395.63	266,395.63	Getinge.	Turkey	
14	patient bed five movement	UNT	20.00	20.00	1,497.00	29,940.00	Kenmak	Turkey	
Offer t	otal value 552,1	65.32	Offer deposit fee (2	2% of Total Value in S	SDG)		11,043.31 Offer total N	lo. of Items Offere	ed 4

Offer no: OS00106/004/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks

Supplier name: PENOTEE MULTIACTIVITIES C

Tender no: TNDRE/009/2017

15	PATIENT BED TWO MOVES	PCS	6 150.00	150.00	500.78	75,117.00	Kenmak.		Turkey			
Offer t	otal value	75,117.00	Offer deposit fee (2	2% of Total Value in S	SDG)		1,502.34	Offer total N	No. of Items Offer	ed	1	
Cons	solidated value	1,767,771.70	Consolidated Depo	osit Fee (2% of Total	Value in SDG)		35,355.44	Consolidate	ed Total No. of Ite	ms	15	

Supplier name: pentra technology

Tender no: TNDRE/009/2017

Offer no: OS00196/001/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Colour Doppler machine	UNT	1.00	1.00	700,000.00	700,000.00	Neusoft	China	
2	Magnetic Resonance Imaging (MRI) 1.5T	UNT	1.00	1.00	,900,000.00	20,900,000.00	Neudoft	China	
3	Computed Tomography Machine (CT - Scan) 64 Slices	UNT	1.00	1.00	,900,000.00	7,900,000.00	Neusoft	China	
4	Surgical Endoscopy (Labroscopy)	UNT	1.00	1.00	,177,020.00	1,177,020.00	STEMA	Germany	
5	Complete Arthroscopy	UNT	1.00	1.00	650,440.00	650,440.00	STEMA	Germany	
Offer t	otal value 31,327,4	160.00	Offer deposit fee (2	2% of Total Value in \$	SDG)	9,34	44,918.66 Offer total N	No. of Items Offere	ed 5
Cons	olidated value 31,327,4	160.00	Consolidated Depo	osit Fee (2% of Total	Value in SDG)	9,34	44,918.66 Consolidate	ed Total No. of Iter	ms 5

Supplier name: ProScope Medical Company

Tender no: TNDRE/009/2017

Offer no: OS00228/002/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Surgical Endoscopy (Labroscopy)	UNT	1.00	1.00	,559,250.42	1,559,250.42	Sopro Comeg	Germany	
2	Complete Arthroscopy	UNT	1.00	1.00	725,042.73	725,042.73	Sopro Comeg	Germany	
3	PORTABLE PATIENT MONITOR BASIC PARAMETERS	UNT	15.00	15.00	39,400.00	591,000.00	Progetti	Italy	
Offer t	otal value 2,875	293.15	Offer deposit fee (2	2% of Total Value in S	SDG)		57,505.86 Offer total N	No. of Items Offere	ed 3
Cons	olidated value 2,875	293.15	Consolidated Depo	osit Fee (2% of Total	Value in SDG)	:	57,505.86 Consolidate	ed Total No. of Iter	ms 3

Supplier name: Radmed Medical Company

Tender no: TNDRE/009/2017

Offer no: OS00066/001/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UNT	15.00	15.00	550,000.00	8,250,000.00	Draeger	Germany	
ffer t	otal value 8,250	,000.00	Offer deposit fee (2	% of Total Value in	SDG)	1	65,000.00 Offer tota	l No. of Items Offered	1
Offe	r no: OS00066/002/2017			Offer Statu	IS: Confirmed	& Sent			
Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
2	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UNT	15.00	15.00	550,000.00	8,250,000.00	Drager	Germany	
ffer t	otal value 8,250	,000.00	Offer deposit fee (2	% of Total Value in	SDG)	1	65,000.00 Offer tota	l No. of Items Offered	1
Offe	r no: OS00066/003/2017			Offer Statu	IS: Confirmed	& Sent			
Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
3	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UNT	15.00	15.00	375,000.00	5,625,000.00	Draeger.	Germany	
ffer t	otal value 5,625	,000.00	Offer deposit fee (2	% of Total Value in	SDG)	1	12,500.00 Offer tota	l No. of Items Offered	1
Offe	r no: OS00066/004/2017			Offer Statu	IS: Confirmed	& Sent			
Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
4	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UNT	15.00	15.00	375,000.00	5,625,000.00	Drager.	Germany	
ffer t	otal value 5,625	,000.00	Offer deposit fee (2	% of Total Value in	SDG)	1	12,500.00 Offer tota	I No. of Items Offered	1
_		000.00	_			_	55,000.00 Consolid a		
	olidated value 27,750		Consolidated Depo	ait Fee (00/ of Tetel				ated Total No. of Items	1

Supplier name: Rafeef For Integrated Solutions.

Tender no: TNDRE/009/2017

Offer no: OS00241/001/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Surgical Endoscopy (Labroscopy)	UNT	1.00	1.00	83,351.00	83,351.00	Richard Wolf	Germany	
2	Complete Arthroscopy	UNT	1.00	1.00	33,401.00	33,401.00	Richard Wolf	Germany	
3	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UNT	15.00	15.00	24,000.00	360,000.00	Heinen + Lowenst	Germany	
Offer t	otal value	476,752.00	Offer deposit fee (2	% of Total Value in §	SDG)	1	42,214.17 Offer total	No. of Items Offered	3
Offe	r no: OS00241/002/2017	7		Offer Statu	IS: Confirmed	& Sent			
Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
4	PORTABLE PATIENT MONITOR BASIC PARAMETERS	UNT	15.00	15.00	18,750.00	281,250.00	H+L	Germany	
Offer t	otal value	281,250.00	Offer deposit fee (2	% of Total Value in §	SDG)		83,896.31 Offer total	No. of Items Offered	1
Cons	olidated value	758,002.00	Consolidated Depo	sit Fee (2% of Total	Value in SDG)	2	26,110.48 Consolidat	ed Total No. of Items	s 4

Supplier name: Rasd Medicines & Medical Equit

Tender no: TNDRE/009/2017

Offer no: OS00009/001/2017

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	ECHO ULTRASOUND	UNT	1.00	1.00	23,800.00	23,800.00	Sonoscape Medica	China	
2	Colour Doppler machine	UNT	1.00	1.00	34,000.00	34,000.00	Sonoscape Medica	China	
3	Central Steam Sterilization Unit (CSSD)	UNT	1.00	1.00	174,495.22	174,495.22	prohs	Portugal	
4	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UNT	15.00	15.00	21,000.00	315,000.00	Hamilton Medical	Switzerland	
5	PATIENT BED TWO MOVES	PCS	150.00	150.00	432.00	64,800.00	Demirtas Medikal	Turkey	
6	patient bed five movement	UNT	20.00	20.00	3,120.00	62,400.00	Demirtas Medikal	Turkey	
7	PORTABLE PATIENT MONITOR BASIC PARAMETERS	UNT	15.00	15.00	2,703.00	40,545.00	Lutech	United States	
Offer t	otal value 715	,040.22	Offer deposit fee (2	2% of Total Value in S	SDG)	2	13,295.07 Offer total I	No. of Items Offere	ed 7

Offer total value

Offer no: OS00009/002/2017

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
8	ECHO ULTRASOUND	UNT	1.00	1.00	20,400.00	20,400.00	Sonoscape	China	
9	Colour Doppler machine	UNT	1.00	1.00	23,800.00	23,800.00	Sonoscape	China	
10	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UNT	15.00	15.00	19,313.00	289,695.00	Hamilton	Switzerland	
Offer t	otal value 333,8	895.00	Offer deposit fee (2	% of Total Value in §	SDG)		99,600.21 Offer total N	No. of Items Offere	ed 3

Offer no: OS00009/003/2017

333,895.00 Offer deposit fee (2% of Total Value in SDG)

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
11	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UNT	15.00	15.00	17,700.00	265,500.00	Hamilton AG	Switzerland	
Offer t	otal value 265	,500.00	Offer deposit fee (2	2% of Total Value in S	SDG)		79,198.12 Offer total M	No. of Items Offere	e d 1

Consolidated value	1,314,435.22	Consolidated Deposit Fee (2% of Total Value in SDG)	392,093.40	Consolidated Total No. of Items
--------------------	--------------	---	------------	---------------------------------

Supplier name: Samasu Medical and educationa

Tender no: TNDRE/009/2017

Offer no: OS00010/002/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	ECHO ULTRASOUND	UNT	1.00	1.00	35,000.00	35,000.00	GE Healthcare	China	
2	Magnetic Resonance Imaging (MRI) 1.5T	UNT	1.00	1.00	,275,000.00	1,275,000.00	GE Healthcare	China	
3	Computed Tomography Machine (CT - Scan) 64 Slices	UNT	1.00	1.00	390,000.00	390,000.00	GE Healthcare	China	
4	PORTABLE PATIENT MONITOR BASIC PARAMETERS	UNT	15.00	15.00	8,000.00	120,000.00	GE Healthcare	Finland	
5	Colour Doppler machine	UNT	1.00	1.00	43,000.00	43,000.00	GE Healthcare	South Korea	
6	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UNT	15.00	15.00	25,000.00	375,000.00	GE Healthcare	United States	
Offer t	otal value 2,238	3,000.00	Offer deposit fee (2	2% of Total Value in S	SDG)		44,760.00 Offer total N	lo. of Items Offere	e d 6
Cons	olidated value 2,238	3,000.00	Consolidated Depo	osit Fee (2% of Total	Value in SDG)		44,760.00 Consolidate	ed Total No. of Iter	ns 6

Supplier name: Shen Zhen Development Co.,Ltc

Tender no: TNDRE/009/2017

Offer no: OS00019/002/2017

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Central Steam Sterilization Unit (CSSD)	UNT	1.00	1.00	31,790.00	31,790.00	Xinhua	China	
2	Magnetic Resonance Imaging (MRI) 1.5T	UNT	1.00	1.00	,426,800.00	1,426,800.00	Alltech	China	
3	Computed Tomography Machine (CT - Scan) 64 Slices	UNT	1.00	1.00	410,000.00	410,000.00	Neusoft	China	
4	PATIENT BED TWO MOVES	PCS	150.00	150.00	385.00	57,750.00	Pukang	China	
5	patient bed five movement	UNT	20.00	20.00	2,258.00	45,160.00	Pukang	China	
6	PORTABLE PATIENT MONITOR BASIC PARAMETERS	UNT	15.00	15.00	2,560.00	38,400.00	Advanced	United States	
7	Patient Monitor with full Parameters	PCS	5.00	5.00	16,500.00	82,500.00	Advance	United States	
Offer t	otal value 2,092,4	400.00	Offer deposit fee (2	2% of Total Value in S	SDG)		41,848.00 Offer total I	No. of Items Offere	ed 7

Offer no: OS00019/003/2017

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
8	Magnetic Resonance Imaging (MRI) 1.5T	UNT	1.00	1.00	,668,000.00	1,668,000.00	Alltech.	China	
9	PATIENT BED TWO MOVES	PCS	150.00	150.00	475.00	71,250.00	Saikang	China	
10	patient bed five movement	UNT	20.00	20.00	2,295.00	45,900.00	Saikang.	China	
Offer t	total value 1,785,7	150.00	Offer deposit fee (2	2% of Total Value in S	SDG)	-	35,703.00 Offer total I	No. of Items Offere	ed 3

1,785,150.00 Offer deposit fee (2% of Total Value in SDG)

Offer no: OS00019/004/2017

Srl.	Item description	иом	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
11	Central Steam Sterilization Unit (CSSD)	UNT	1.00	1.00	29,800.00	29,800.00	Xinhua	China	
12	Magnetic Resonance Imaging (MRI) 1.5T	UNT	1.00	1.00	,426,800.00	1,426,800.00	alltech	China	
13	Computed Tomography Machine (CT - Scan) 64 Slices	UNT	1.00	1.00	410,000.00	410,000.00	neusoft	China	
14	PATIENT BED TWO MOVES	PCS	150.00	150.00	385.00	57,750.00	Pukang	China	

Supplier name: Shen Zhen Development Co.,Ltc

Tender no: TNDRE/009/2017

18 19	Magnetic Resonance Imaging (MRI) 1.5T PATIENT BED TWO MOVES	PCS	150.00	150.00	475.00	71,250.00	saikang	China	
18	-			1.00	,000,000.00	.,,			
	Magnetic Resonance	UNT	1.00	1.00	,668,000.00	1,668,000.00	alltech	China	
Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
	otal value 2,090 r no: OS00019/005/2017	,410.00	Offer deposit fee (29	% of Total Value in S Offer Statu	-		23,565.12 Offer tota	al No. of Items Offered	7
17	Patient Monitor with full Parameters	PCS	5.00	5.00	16,500.00	82,500.00	advanced	United States	
16	PORTABLE PATIENT MONITOR BASIC PARAMETERS	UNT	15.00	15.00	2,560.00	38,400.00	advanced	United States	
	patient bed five movement	UNT	20.00	20.00	2,258.00	45,160.00	Pukang	China	

Supplier name: Tabasheer Meical Co.Ltd.

Tender no: TNDRE/009/2017

Offer no: OS00056/002/2017

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	ECHO ULTRASOUND	UNT	1.00	1.00	366,000.00	366,000.00	Mindray	China	
2	Colour Doppler machine	UNT	1.00	1.00	354,000.00	354,000.00	Mindray	China	
3	Computed Tomography Machine (CT - Scan) 64 Slices	UNT	1.00	1.00	,357,800.00	7,357,800.00	Anke	China	
4	ADVANCE PORTABLE VENTILATOR WITH COMPRESSOR	UNT	15.00	15.00	285,000.00	4,275,000.00	Mindray	China	
5	PORTABLE PATIENT MONITOR BASIC PARAMETERS	UNT	15.00	15.00	25,480.00	382,200.00	Mindray	China	FDA
6	Patient Monitor with full Parameters	PCS	5.00	5.00	453,000.00	2,265,000.00	Mindray	China	FDA Fully comply with specifica
Offer t	otal value 15,000,0	00.00	Offer deposit fee (2% of Total Value in SDG)			4,474,470.00 Offer total I		No. of Items Offered 6	

Offer no: OS00056/003/2017

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks	
7	ECHO ULTRASOUND	UNT	1.00	1.00	900,000.00	900,000.00	Mindray1	China	FDA	
8	Patient Monitor with full Parameters	PCS	5.00	5.00	433,000.00	2,165,000.00	Mindray1	China	FDA	
Offer t	otal value 3,065,0	3,065,000.00 Of		Offer deposit fee (2% of Total Value in SDG)			914,283.37 Offer total N		ed	2
Cons	colidated value 18,065,0	18,065,000.00 Cc		Consolidated Deposit Fee (2% of Total Value in SDG)			5,388,753.37 Consolidate		ms	8